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Oaths; there are two which are four — V2N 1w 25w NIYnaw

OVERVIEW

The 70 writes! 7y2w2 o787 XYY WK 235 22075 IR ¥79 20oipa RYah vawn o vo) iX
"2 unn 02V, If a person swears and he forgot his oath and transgressed it, he is
271 a 277 79 1277, Everyone agrees that he is 211 if the oath was regarding the
future and it was either good or bad for the person, for the P05 states 220177 W ¥77?
(which is future tense). For instance he swore ‘I will eat’ or ‘I will not eat’; these
two oaths are for the future and they are either good (?21X) or bad (72X X?).

If he swore for the future but it was neither for good or bad (for instance, 1 will
throw or I will not throw something) and he (mistakenly) transgressed his oath, all
agree that he is 2>°1. We derive it from the "2 of 7¥12wW2 7RI XL WK 235,
However if he swore for something that happened in the past, for instance *n?2X or
"N7IR R (or NPT X1 °npAT); according to PXYnw ' he is not 217 a 127p (if he swore
falsely [by mistake]) since it is not for the future, while ¥2°py "1 maintains that the
"2 of "1 937 includes the past just as it includes even if it is not 2°v°77% W ¥777°.

— DOIN NP DOIN DNV WM (x, 91 MIMAY WA
In the beginning of nmwiaw ndon the X3 explains; ‘Two; refers to the oaths of

either I will eat, or I will not eat (and then he did not eat, or he ate; respectively) -
— NANY 139917 2VYNY IN Y9N NP NN 29N91

As is written clearly in the ?op, ‘for bad (not to eat) or for good (to eat),” which

indicates a future oath -
— NYAYT SNNRT NJON XD INYIN /7 1nY

Which are extended to four; that is I ate (when he did not eat) or I did not eat

(and he had already eaten). These oaths are derived from a X@9%7.” This concludes
the interpretation of the 71wn according to the X7n3.

Moo responds to an anticipated question:
— PINTN NDY PINN 77 )NY Y91 NYT XN

And the reason the X732 did not interpret ‘that they are four’ is referring to the
oaths of ‘I will throw or I will not throw’ —

Lg,m %9,
2 A wealthy person brings a w3 or 77yw for a NXYM; a poor person brings TRY T2W? AR 71 %12 "W W 2NN NW
nXvnY; an extremely poor person brings a NRVAY M.
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— 33NN YDA MINPING T8 11D N INYNIYS ¥299 191 NINN 11D
And the advantage of interpreting the 71w» in this fashion would be that the entire
mwn would be according to >''1 and it would not be necessary to establish the

7Iwn according to two 2°X1N; the answer is -
— 3NN N9 INYIN 77 )Y NY¥THA 130 (3,00 97 /) P2 PHINNT DIUN

Because the m1w» in the third pap (of nwiaw), which explains the initial 71wn,
states clearly that the '7 372 is "n9oR K91 Sn9oN.

mooin asks:
—4NY AV DINY NP R INNN 9INN ON)

And if you will say; why does not the ;73w» teach that by m»aw there are asnw

which are eight (and not merely four); the eight are -
— 3T DY SIPIT DYIIN NYY PITIN SNYIN XYY SNYIN [S99IN XD I9IN]

[T will eat, or I will not eat], I ate or I did not eat, I will throw or I will not
throw, I threw or I did not throw.

MO0IN answers:
— 79997519 927 NN NIV 1INV SMmpaY w92 37Y9 W29 799 NN

And it seems that therefore >''w= explained in the beginning of nwaw ndon
that the mwn» teaches only a 712w and its opposite.

moon offers his own answer to the question:
—MMYON NDY INYIN NIN VP NIT NN PNYY 13%29)

And the >''1 answered that he only mentions >n%o8 XY Sn9oN -
=590 N2 NN INYIY) %29 DT DIVN

Because PXy»ws ' argues (and maintains there is no 7279 211 by 12vw?) and so

there is a greater novelty (that our mwn disagrees with >"1 and maintains there is a 1379 2110
even by 12yw? -

3 The X3 in X,3 MW states that the 71wn there (on X,2) cannot follow the view of >"1 (since the mawn is 2»mn for
72yw2) and it cannot follow the view of ¥"1 regarding axmw (for the mwn is 2»nn for wipn 0oy [besides 0%y
Rm)).

4 The mwn (of 12 >nw My1aw) is following the view of ¥ (and not of >"1 as just mentioned). According to ¥" there
is a 127 2rn for eight My12w and not merely for four. See ‘Thinking it over’ # 3.

5 This is the o°nw.

6 (1w A"72Y) nw 7"72 R,2.

7 The ‘o°nw’ in the maw» must refer to 7218 X7 92 for that is implied in the P09 of 2072 W ¥ a X272 AW which
is either for good or bad and it also includes (on account of the »27) PR &7 P, All the cases of Ra7% are
considered o°nw since it is 1©19°m 127; I will do or I will not do. The same is true for the 72vw we count them all as
two. According to *"w7d the mwn includes all the eight cases N9 mentions.
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— 25919 UN XY INYNIYO 529 DTIIT PR XYY 71NN YaN
However regarding P19t 821 P11 where "9 agrees that there is a 1279 2117 the
mawn was not concerned that it be mentioned (since > agrees to this ruling).®

n1voIN asks:
— VYU ) 2INOY 1IND Iy 1074 1Y 0NV NP INNIN NaY 2N 79580 ON)

And if you will say; regarding n2w why does the mwn» state '7 372 2°n2 and no

more (than '7); the ;71wn should also teach regarding v -
— (3,58 97 APV MMINTI 3NT D290 MW AT TINN MVAY DNYN MY 12953y

And carrying from a ''719 to a 3''177 by way of a 2"'719 for which he is 291, as the

N3 states later, and the mawn should also mention -
— NN MIVAY D297 MY 02290 NIYAIY TINN MY P

Throwing from a >'';19 into a 9''779 and throwing from a 2'"'719 to a 3"'7719. Why did
the 71wn» omit these M721n7?!

NB0IN answers:
— ©%90 MYIT NN MY XINY BANRKING NINTT NDIDN NIHN 1INP NIT 910 U

And one can say; that the 71wn only mentions 7791277 which is similar to 7R3

which is from a >"'7719 to a 2''719, this is in order -
— PN NMIYAY TINN MY NINY 149529139 VIWIN IPIAND

To exclude w2 and 2°2ay» which both are from a 3"';79% >''719 by way of a 2" -

1P NN 92 NAVINA NTY NINRKIND NINT KD ) NP
And 1pe9t is also not mentioned for it 1s not similar to 7NXY7, for nIXXT is
transporting by hand and 777 is transporting by throwing.

SUMMARY
The ¥27X 17w by myaw is interpreted to mean “n?OK X1 °n9aX either because this
includes all the opposing cases (*"w19) or because 121 °*nN2OK is a WI7°M.

8 Once we do not mention PITX X?1 PR there is no reason to mention NPT X7 °npar. (In fact if snpAT X9 np
would be mentioned and not P1ITR X?1 P17IR one may mistakenly assume that P1IR X?1 P17IR is Mw9.)

% See ‘Thinking it over’ # 2.

19 See ‘Thinking it over’ # 3.

' This seems to be a question on the 7awn in My12w (not on the 7w here).

12 The 0"nn amends this to read 7"77 777 *"77% "0 LW (A"A72 ®"7) avm, and the same in MO answer, for
there is no 2rn (at least certainly according to the ¥"27 02m) for being 1"771 717 *"71% "7 2wy, unless one stops
in the 7"7".

13 The marginal gloss amends this to read 8X177 ™M137 X177

14 According to the 0"nn (cited in footnote # 10), this should read; (7"772 X"7) 2vm (it is excluded because it occurs
only in a 73"7) >"77% >3 R VWM.
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THINKING IT OVER
1. What are the relative advantages of >"w75 and "1 why the 71wn in M¥2w does
not say 'n jw?!?

2. Does mooin second question (that the m1wn should include more than 70107)!¢
apply equally to the answers of >"w15 and >"» for the previous question?!”

3. mooin asks (first) that the 7awn should states ' 7w 00w mMyaw,'® and (secondly)
that the mwn by nawn mx°x should include P71 ,77avn ,vwn and it should be
more than v27X 77w.!"° Seemingly the mwn wishes to show that there are four
separate M2777 (which are nawn MR ,ARMVT MY ,Maw and 2°Y31 7XIM) which
have a commonality that all of them can be constructed in a '7 17w 2°nw format.
Why then should the mwn break up this symmetry?!

15 See w"x"7 Mmoo
16 See footnote # 9.
17 See 2w 17"72 n YW naw.
18 See footnote # 4.
19 See footnote # 10
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